
Nombres Relatifs (C)Remplissez l’espace vide.____ + 6 = 13 5 + 7 = ____ 4 + 6 = ____6 + ____ = 13 7 + 5 = ____ 6 + ____ = 1013 - ____ = 6 12 - ____ = 7 10 - ____ = 6____ - 6 = 7 12 - ____ = 5 10 - ____ = 4
2 + ____ = 9 ____ + 2 = 3 7 + ____ = 87 + ____ = 9 2 + 1 = ____ 1 + 7 = ________ - 2 = 7 ____ - 1 = 2 ____ - 7 = 19 - 7 = ____ 3 - ____ = 1 8 - ____ = 7
4 + ____ = 13 8 + 1 = ____ 5 + ____ = 99 + 4 = ____ ____ + 8 = 9 ____ + 5 = 9____ - 4 = 9 ____ - 8 = 1 9 - 5 = ____13 - 9 = ____ 9 - 1 = ____ 9 - 4 = ____
5 + ____ = 6 ____ + 4 = 12 8 + 6 = ____1 + 5 = ____ 4 + ____ = 12 ____ + 8 = 146 - ____ = 1 12 - 8 = ____ ____ - 8 = 6____ - 1 = 5 ____ - 4 = 8 ____ - 6 = 8

____ + 9 = 14 6 + ____ = 11 ____ + 4 = 8____ + 5 = 14 5 + ____ = 11 4 + ____ = 8____ - 5 = 9 ____ - 6 = 5 8 - 4 = ____14 - 9 = ____ 11 - 5 = ____ 8 - ____ = 4
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Nombres Relatifs (C) RéponsesRemplissez l’espace vide.7 + 6 = 13 5 + 7 = 12 4 + 6 = 106 + 7 = 13 7 + 5 = 12 6 + 4 = 1013 - 7 = 6 12 - 5 = 7 10 - 4 = 613 - 6 = 7 12 - 7 = 5 10 - 6 = 4
2 + 7 = 9 1 + 2 = 3 7 + 1 = 87 + 2 = 9 2 + 1 = 3 1 + 7 = 89 - 2 = 7 3 - 1 = 2 8 - 7 = 19 - 7 = 2 3 - 2 = 1 8 - 1 = 7
4 + 9 = 13 8 + 1 = 9 5 + 4 = 99 + 4 = 13 1 + 8 = 9 4 + 5 = 913 - 4 = 9 9 - 8 = 1 9 - 5 = 413 - 9 = 4 9 - 1 = 8 9 - 4 = 5
5 + 1 = 6 8 + 4 = 12 8 + 6 = 141 + 5 = 6 4 + 8 = 12 6 + 8 = 146 - 5 = 1 12 - 8 = 4 14 - 8 = 66 - 1 = 5 12 - 4 = 8 14 - 6 = 8
5 + 9 = 14 6 + 5 = 11 4 + 4 = 89 + 5 = 14 5 + 6 = 11 4 + 4 = 814 - 5 = 9 11 - 6 = 5 8 - 4 = 414 - 9 = 5 11 - 5 = 6 8 - 4 = 4
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